PART I: GENERAL STUDIES

1. Through which of the following pairs of the states Kaveri rivers flows :-
(a) Andhra Pradesh — Tamil Nadu
(b) Karnataka — Tamil Nadu
(c) Maharashtra — Andhra Pradesh
(d) Karnataka — Maharashtra

2. According to Census 2011, which of the following states of India have least population density?
(a) Arunachal Pradesh
(b) Mizoram
(c) Sikkim
(d) Nagaland

3. Which one of the following is not correctly matched:-

National Parks - States
(a) Corbet - Uttarakhand
(b) Dachigam - Jammu & Kashmir
(c) Manas - Madhya Pradesh
(d) Periyar - Kerala

4. Which one of the following countries is the largest producer of coal in the world?
(a) US.A.
(b) China
(c) India
(d) Australia

5. Along which of the following the Konkan Railway route runs:-
(a) Himadri
(b) Western Ghats
(c) Eastern Ghats
(d) Nilgiri Hills

6. For which of the following Firozabad is famous?
(a) Cotton textile industry
(b) Information technology
(c) Chemical fertilizer industry
(d) Cottage glass industry

7. Which of the following rivers is known as the “Sorrow of China”?
(a) Yangtze Kiang
(b) Sikiang
(c) Hwang Ho
(d) None of the above
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8. In which of the following spheres the ozone layer lies?

(a) Ionosphere

(b) Photosphere
(c) Stratosphere
(d) Troposphere

9. Kirghiz tribes are the inhabitants of:-

10.

11.

12.

13.

14.

(a) Congo Basin

(b) Kalahari Desert

(c) Arctic Tundra Region
(d) Central Asia

India accounts for what percentage of the world population?
(a) 11.02
(b) 12.40
(c) 13.28
(d) 16.70

Which of the following states is the most populous state of India according to 2011 Census?
(a) Bihar

(b) Uttar Pradesh

(c) West Bengal

(d) Maharashtra

Which of the following plants is a bio diesel plant?
(a) Jawa grass

(b) Jatropha

(c) Guggul

(d) Rosha grass

Based on percentage of World Population - 2010, select the descending sequence of the following
continents:-

(a) Africa, Europe, North America, South America

(b) Europe, North America, South America, Africa

(c) North America, Europe, Africa, South America

(d) Europe, Africa, South America, North America

Match List-I with List-II and select the correct answer from the codes:-
List-I (Mineral Fuel) List-II (Highest Producing Countries-2009)
A. Uranium 1. China
B. Coal 2. Saudi Arabia
C. Crude Petroleum 3. US.A.
D. Natural Gas 4. Canada
Code: A B C D
(a) 2 1 4 3
(b) 3 4 1 2
(©) 4 1 2 3
(d) 1 2 3 4
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15. Which of the following is the large scale map:-
(a) Physical map of the world
(b) Political map of India
(c) Road map of Uttarakhand
(d) Topographical map of Dehradun

16. Sri Jayawardene Pura is the capital of which of the following countries:-
(a) Maldives
(b) Thailand
(c) Sri Lanka
(d) Cambodia

17. Which of the following countries receives the maximum solar insolation in the month of January:-
(a) Egypt
(b) Kenya
(c) Congo
(d) Botswana

18. Identify the A‘Egz‘nic Power Station which is not correctly located on the given map of India:-

(a) Rawatbhatta (Ve

(b) Narora

(c) Tarapur

(d) Kaiga

19. Match List-I with List-1I and select the correct answer from the codes given below:-
List-I (Ports) List-II( States)

A. Haldia 1. Tamil Nadu
B. Tuticorin 2. West Bengal
C. Mangalore 3. Gujarat
D. Kandla 4. Karnataka

Codes:tA B C D

(a) 4 3 2 1

(b) 3 4 1 2

(©) 2 1 4 3

(d) 1 2 3 4

20. For which of the following ‘Chal Khal’ is made in the hills of Uttarakhand?
(a) Protection of landslide
(b) Conservation of water
(c) Protection of wild life
(d) For irrigation
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21.

22.

23.

24.

25.

Which of the following is known as the ‘Boiling Tal’ of Uttarakhand?
(a) Bhaink Tal

(b) Veni Tal

(c) Bayan Tal

(d) Badani Tal

Which of the following Puranas has the description of Uttarakhand?
(a) Airtaiy Brahmana

(b) Skand Purana

(c) Manas and Kedarkhand

(d) Garun Purana

Who was the first and only member from the British Kumaon Division (Kumaon and British
Garhwal) in the Legislative Assembly of the United Provinces of Agra and Awadh (after
independence):-

(a) Gobind Ballabh Pant

(b) Victor Mohan Joshi

(c) Barrister Mukundi Lal

(d) Tara Dutt Gairola

How many square metre land area is covered under one Nali in hills of Uttarakhand:-
(a) 100 m”

(b) 200 m’
(c) 500 m*
(d) 1000 m*
Match List-I with List-II and select the correct answer from the given codes:-
List-I (Temples) List-ITI (Places)
A. Kim Kaleshwar Temple 1. Almora
B. Chitai Temple 2. Pauri
C. Tapkeshwar Temple 3. Nainital
D. Garjia Devi Temple 4. Dehradun

Codes A B C D
(a) 1 2 3 4
(b) 2 1 4 3
(©) 3 2 1 4
(d) 2 1 3 4
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26.

27.

28.

29.

30.

31.

32.

Match List-I with List-II and select the correct answer from the given codes:-

List-I (Glacier) List-II (Districts)
A. Kafni 1. Uttarkashi

B. Milam 2. Bageshwar

C. Gangotri 3. Bageshwar

D. Pindari 4. Pithoragarh
Code A B C D

(a) 2 3 1 4

(b) 2 4 1 3

(c) 3 2 4 1

(d) 4 2 3 1

According to 2011 census, which of the following is the female literacy percentage in Uttarakhand?

(a) 76.63%
(b) 74.04%
(c) 70.70%
(d) 65.46%

Which one among the following kings sacrificed his life fighting against the Gorkhas in the war of
Khurbura?

(a) Praduman Shah

(b) Pradeep Shah

(c) Sudershan Shah

(d) Kirti Shah

On which of the following persons “Gandhi Peace Prize” was conferred in 2013?
(a) Sunder Lal Bahuguna

(b) Deep Joshi

(c) Chandi Prasad Bhatt

(d) Vandana Shiva

In which of the following districts ‘Reetha — Meetha Sahib’ , the holy place of Sikhs, is situated?
(a) Pithoragarh

(b) Udham Singh Nagar

(¢) Chamoli

(d) Champawat

Which one of the following is related with the SIDCUL Project of Uttarakhand state?
(a) Industrial development

(b) Sports development

(c) Culture and literature development

(d) Agricultural development

In which of the following districts ‘Fruit Research and Horticulture University’ is situated?
(a) Chamoli

(b) Pithoragarh

(c) Pauri

(d) Tehri
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33. What is ‘PATAL BHUBNESWAR’?
(a) A Cave
(b) A Tal
(c) A Temple
(d) A Peak

34. Who among the following persons lead ‘DOLA —PALKI’ Andolan in Uttarakhand?
(a) Bhakt Darshan
(b) Jayanand Bharti
(c) Bhairav Dutt Dhuliya
(d) Baldev Singh Arya

35. In which year the Jawaharlal Nehru Urban Renewal Mission (JINURM) was launched?
(a) 2013
(b) 2004
(c) 2005
(d) 2006

36. Which of the following cities of Uttarakhand is known as ‘Tamra-Nagri’ (copper city)?
(a) Almora
(b) Rudra Prayag
(c) Uttarkashi
(d) Pauri

37. Which of the following fairs is organized for business purpose?
(a) Jauljivi fair
(b) Purnagiri fair
(c) Jhanda fair
(d) Bissu fair

38. Satnami sect (17" C.) owes its origin to which of the following?
(a) Tulsidas
(b) Kalidas
(c) Kabirdas
(d) Surdas

39. Who among the following has written ‘Tohfutul Hind’?
(a) Al-Beruni
(b) Mirza Jan
(c) Ziauddin Barani
(d) Abul Fazal

40. ‘Yangana’ belongs to which Buddhist Pitaka?
(a) Sutla
(b) Vinaya
(c) Abhidhamma
(d) None of these
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33. fr=1 # ‘graTet fameaR’ ®I R?
(a) U hT
(b) TP dret
(c) TP AfeR
(d) v& Rrer

34, FrfaRaa H o AfdT gRT STRIEUS H SIA—UTeld]’ 3=l &I -ged b TaT?
(a) ¥ <99
(b) ST=< ¥R
(c) Wea gferm
(d) geTeq g md

35. STATERAT -8 el AdidRvl e, foa ad ur=T fhar T or?
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(c) 2005
(d) 2006

36. STRIGUS & fArefRad TRI # f&9 ‘aF—"r @ 39 § SHT ofrar 87
(a) STcHTST
(b) SEYITT
(c) STRBEN
RIS

37. 9 & 9 -1 H ARG ST I JARTT fhar Sirar 87
(a) SreToirdl #ar
(b) qUITRRY Halr
(c) SiST Hell
(d) farey et

38. fferRad # & fra & Faar duery (174 9 sro=m enfawia #rear 87
(a) Jordirary
(b) Breilard
(c) PHAREH
(d) ™

39. frp=iferRad ¥ fo ‘drewhga fews’ @1 a1 3 &7
(a) STATTI
(b) st 5=
(c) RTARSET &=+
(d) 31T Holel

40. T 5 g8 fOdrer & Hefda 27
(a) AT
(b) faa
(c) srfer
(d) SRITd § A PIg T8
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41. The policies of which of the following pairs of British Monarchs have revived the fortunes of
English East India Company?
(a) James-I and Charles-I
(b) Charles-II and James-II
(c) James-I and Charles-11
(d) Charles-I and James-II

42. Which of the following Charter Acts allowed Christians to enter India without restriction?
(a) Charter Act of 1793
(b) Charter Act of 1813
(c) Charter Act of 1833
(d) Charter Act of 1853

43. Which of the following British Law Code(s) was/were fully implemented after the revolt of 18577
(a) The Code of Civil Procedure 1859
(b) The Indian Penal Code 1860
(c) The Criminal Procedure Code 1862
(d) All the above

44. Who among the following had drafted the ‘Pakistan Resolution’?
(a) Muhammad Ali Jinnah
(b) Rehmat Ali
(c) Sikander Hayat Khan
(d) Fazlul Haque

45. At which of the following places Chandragupta Mauriya had received his higher education:-
(a) Takshila
(b) Vaishali
(c) Nalanda
(d) Vikramshila

46. Which one of the following Gupta rulers is referred to as “Lichchhavi Dauhitra”?
(a) Chandragupta-I
(b) Chandragupta-II
(c) Skandgupta
(d) Samudragupta

47. Which of the following inscriptions refers to the defeat of Hunas by Skandgupt?
(a) Gwalior Inscription
(b) Junagarh Inscription
(c) Mandsaur Inscription
(d) None of the above
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41. Fr=tfaRad fafesr el & 9 ¥ fd T @ Il gRT SRSl $%¢ 3fear &roell &1 v
RERIIEN g =
(a) OT=I—1 T4 aTedi—1
(b) AT—11 Ta =11
(c) S=I—1 Ud =Tedi—II
(d) I~ vd SFa—I1

42. f=faRaa & fa ardk ff s & gRT IR | $918 faemRal &1 991 % <re omst us™
BT S?
(a) AT AT 1793
(b) TR FfATTH 1813
(c) TTex AT 1833
(d) TTeR I 1853

43. fFrfoiaa # o fafeer A drew 1857 & fasie & ugama guiaan faffed gu?
(a) TR fafer Prs, 1859
(b) YRAT & fdum™, 1860
(c) IRIfS® fafer drs, 1862
(d) SR & 9 a4

44. f=faRaa & 9 foas aifesa™ wRara’ GaR fdar or?
(a) gB™I el =11
(b) IEHA 3Tl
(c) Rrp<x ga1a @t
(d) B D

45. fFrafoRad el % 9§ = AR 7 $Bl U S Rrer Uy @ ofi?
(a) eI
(b) It
(c) TeT=<T
(O REERINEGI

(N

46. Fr=1faRad Ta emae H fba e 1 fofesfd difes’ & vu § w<fid f&ar Simar 87
(a) I Id—1
(b) TETT—I1
(c) ¥
(d) Fg<T

47. fF=faiad 4 9 f6a el H W<« gRT B4 &I IRIST BT Iooid e &7?
(a) TR 31ferd
(b) SATTG SAfere
(c) A9 3Tfiere
(d) SWRIFT H BIg e
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48.

49.

50.

51.

52.

53.

54.

From whom of the following Akbar learnt the doctrines and practices of Parsian religion?
(a) Dastur Mahyarji Rama

(b) Purushottam

(c) Devi

(d) Heer Vijay Suri

With which one of the following Sikh Gurus, who blessed the rebel Prince Khusrao, Jahangir was
angry?

(a) Guru Ramdas

(b) Guru Angad Dev

(c) Guru Arjun Dev

(d) Guru Har Govind

In which of the following chronological order did Dalhousie annexed the states?
(a) Satara, Jaitpur, Jhansi, Udaipur
(b) Jhansi, Jaitpur, Satara, Udaipur
(c) Udaipur, Jhansi, Jaitpur, Satara
(d) Satara, Jaitpur, Udaipur, Jhansi

Who among the following leaders had established the ‘Ghadar Party’ in 1913 at San Fransisco:-
(a) Ajit Singh

(b) Lala Hardayal

(c) Bhikaji Cama

(d) B.D. Savarkar

Who among the following had returned the British title of ‘Knighthood’ against the Jallianwala
Bagh Massacre on 30™ May 1919?

(a) Rabindra Nath Tagore

(b) Bankim Chandra Chatterjee

(c) Mahatma Gandhi

(d) Annie Beasant

Which one of the following terms was applicable to the members of the Swaraj Party?
(a) Revolutionaries

(b) Moderates

(c) No changers

(d) Pro-changers

‘Act of 1935 is such a motor which possesses many brakes, not engine’. Who made this statement?
(a) Subhash Chandra Bose

(b) Jawaharlal Nehru

(c) Mahatma Gandhi

(d) Sardar Patel
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48.

49.

50.

51.

52.

53.

54.

frfaRad & 9 fra & erheR o IRYT 99 & Rigdl Ud Jd8R &1 349 Ui fhar?

(a) TRR WSOl <01

(b) JoRMH

(c) &l

(d) BR fasra

frrforRed Rig el § & o 7o o ISR weae geRi & oni¥mEie faam, sreifR

ARTST 7?7
(a) > \H <™
(b) TS 31T <4

(c) T® 31T <
(d) T® & M=

fFrfeiRed 3 & 59 &1t 9 & ATAR I BT SRSl 1 FQUT AT?

(2) FART, SIAYR, HRA, STIR
(b) ST, SIAYR, FART, ISAYR

(0) SR, SRR, SR, T
(d) HART, SAYR, ISIYR, il

frfeRad & 9 fog 1T 9 1913 AWIRRGT § e Ul &I U1 BT ofi?
(a) 3roiia Rig

(b) I BREATEA

(c) HIdroll BT

(d) §io 10 ATIRHR

fraforRea & f 9 ‘Siferiarer anT snee’ & oy | fafew Sufdr 'Arsegs’ 30 w8
1919 BT drer far or?

(a) Tfd= AT SR

(b) §fFH T Tes

(c) A-THT T

(d) Tfedie

frfoaRad # & o I d31 TR Ut @ weRil W AR g of?
(a) PITDHRI

(b) IIRATET

(c) aRaa+ faren

(d) gRad= awi®

1935 &1 ARAFEH U W Alex 2 O H 3Fd 9@ € U] Soid T8l &, I8 HAF fha Har?
(a) g9V == 919

(b) STATERATA 8%

(c) ARTHT T

(d) ARER el
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55. Which one of the following is the correct chronological sequence of the following proposals:-

1. Wavel Plan
2. Cabinet Mission
3. Cripps Mission

(a) Wavel plan; Cabinet Mission; Cripps Mission
(b) Cripps Mission; Cabinet Mission; Wavel Plan
(c) Cripps Mission; Wavel Plan; Cabinet Mission
(d) Cabinet Mission; Cripps Mission; Wavel Plan

56. The ozone layer mostly absorbs:
(a) Infrared radiation
(b) Radio waves
(c) Ultraviolet radiation
(d) Visible light

57. Which one of the following is the order of wave length of X-rays?

(@) 10" m
(b) 10" m
(c) 10° m
(d) 10" m

58. Which of the following includes seedless vascular plants?
(a) Bryophyta
(b) Pteridophyta
(c) Gymnosperm
(d) Angiosperm

59. The photosynthetic symbiont of a lichen is often:-
(a) Moss
(b) Brown alga
(c) Green alga
(d) Red alga

60. Which of the following sets of chemical elements constitutes more than 92 percent of living beings?

(a) Carbon, Oxygen, Hydrogen, Sodium

(b) Carbon, Oxygen, Hydrogen, Nitrogen

(c) Carbon, Oxygen, Sodium, Potassium

(d) Hydrogen, Nitrogen, Sulphur, Phosphorous

61. Which one of the following statement is true?
(a) Homo eructus had an Asian origin
(b) Australiopithecine had Australian origin
(c) Homosapiens originated in Europe
(d) Homosapiens originated in Africa
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55. fereiferaa # uTal W 99T IgAR B HH FEl § —

1. ardel g =
2. Bfose fAem
3. fobsg foaeme

(a) A9 9T, dfdde e, fowa ffee
(b) frea e, dfewe fAeM, a9gd ga=
(c) T e, dae uaiE, dfdwic ffeM
(d) Bfeve e, fwa fAeM, a9d ga=

(d) STI—UDTA

57. fr=feRad & X—fxmoi & a_T &1 R B 87
(a) 10 "° Ho
(b) 10" o
(c) 10° Mo
(d) 10" o

58. fferRad & & fr & sraeid dioRfed Fag+d urey Afdferd 81 &7
(a) IRATHTST
(b) RSBEET
(c) o=y
(d) TARTIRTH

59. U b (EP) BT THIETALN FEoNdl UK BIell & —
(a) {9
(b) T Sare
(c) B At
(d) <Tet Jraret

60. Fr=IfeiRad 9 & 5y RIS d@l & T §RT Sial &1 92% | A1 31 Hfdd 8ram 27

(a) BT, MBI, BoSIol, ANSIH
(b) BT, MBI, BTSN, SIS
(c) BTEH, MBS, AfSTH, R
(d) BTSSINM, ATSSIOM, AAHR, BIABRY

61. fFr=fRad & | B9 Th HoH I B87°
(a) BT b B TRRTE SRy o
(b) RTINS BT TR foras Sy off
(c) BMNIMUET & IART |]WI # g8 N
(d) BRI & IURT snbiaT # g8 o
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62.

63.

64.

65.

66.

67.

68.

69.

Which one of the following pairs of plant tissues are found both in xylem and phloem?
(a) Sclerenchyma and Parenchyma

(b) Vessels and Sieve-Tubes

(c) Cortex and Pith

(d) Vascular cambium and cork cambium

Which of the following is measured with hygrometer?
(a) Relative humidity

(b) Atmospheric pressure

(c) Seismic waves

(d) Relative density of liquids

Which of the following in not affected by HIV?
(a) Helper T cell bearing CD4 receptor

(b) Cytotoxic T-cell

(c) Brain Cell

(d) Macro phages

Which of the following diseases/disorders is caused by the death of dopamine secreting brain
neuron?

(a) Fibrosis

(b) Depression

(c) Alzheimers disease

(d) Parkinson’s disease

Bacteria using oxidation of inorganic substance as a source of energy instead of light are known
as:-

(a) Photoautotrophs

(b) Chemoautotrophs

(c) Chemoheterotrophs

(d) Saprotrophs

Which of the following states has become 29" state of India on 2" June 2014?
(a) Chhattisgarh

(b) Telangana

(c) Goa

(d) Jharkhand

Which of the following National Parks of India has been declared to the included in the World
Heritage list of UNESCO?

(a) Rajaji National Park

(b) Great Himalayan Park

(c) Dudhwa National Park

(d) Bandipur National Park

Where was the 8" Summit Conference of G-20 countries held in 20132
(a) Saint Petersburg

(b) Brazil

(c) Germany

(d) Indonesia
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62.

63.

64.

65

66.

67.

68.

69.

forferRad dreu Sadt & SiIs # | &I fdded <% 9 UIvaTg (Fer) 9 | 9T STrar 27
(a) TQIdd TAT Jgdb

(b) afRPTY TAT AT N—AfTHN

(c) Sedhe TqAT HooT]

(d) ST eI qAgT BT TeIT

f=forRad & &9 BRUTHIER SYBRT | HUT ST 87
(a) TUeTe ITTeEar

(b) argHSl <79

(c) ¥ T

(d) TR BT 3MUfEH T

frefeRad H S Ua g a1 §RT Ahia 8l 87

(a) CD4 UTE! Afed We—Id <I—hIfRdI

(b) ATSCIEfdT® T BIfRMDT

(c) FRTsh BB

(d) <E el HIRTHTY

= H A P I9T IeR 89 ARTss df¥eT SR @ 9 8 O 9 S 81T 8, S

ST ATfad Bl 87
() BTN

(b) ISHAT (3raTH)

(c) TSTSTSHR 3T

(d) Trfh=a=1 T

a8 A9 Sl YpIeT & ROAT UR DhIa(-Ieh Yareil & MHHUIHRY Bl Ioll & A & ¥U § IYINT
R &, BEANS & —

(d) o difd

fr=fafad § o9 T 2 S 2014 BT MR BT 2987 I 4T 27
(a) BIRTE

(b) AT

(c) e

(d) IRYvs

IRd & FferRad i urei 7 e @ gl favg fojmad # affera &= @ givom 1
TE?

(a) TSTTSN \9HA UTh

(b) U AT A UTh

(c) gYaT A UTh

(d) ISR S UTh

2013 H G-20 < &7 8df RIER T Hal 7~ gar?
(a) e fredait

OESIE

(c) ST

(d) s=MRmET
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70.

71.

72.

73.

74.

75.

76.

77.

Which of the following cities will be hosting the next Olympic Games to be held in 2016?
(a) Moscow

(b) Melbourne

(c) Rio de Janeiro

(d) Toronto

In which of the following games Heena Sidhu has recently won a World Cup Gold Medal for India?
(a) Shooting

(b) Archery

(c) Weight lifting

(d) Boxing

Which one of the following is the first Indian indigenous anti — submarine stealth warship that been
handed over to Navy?

(a) ILN.S. Vikrant

(b) LN.S. Sunayna

(c) Samudra Ratnakar

(d) ILN.S. Kamorta

Where did the sixth Summit Conference of BRICS countries held on 15-16, July 2014?
(a) Fortaleza

(b) Berlin

(c) Chile

(d) Durban

In which of the following articles of the Indian Constitution the special power with respect to Delhi
is mentioned?

(a) Article 239A

(b) Article 239AA

(c) Article 239

(d) Article 239B

Who among the following in the author of the book “The Dramatic Decade: Indira Gandhi Years”:-
(a) Natwar Singh

(b) Jaswant Singh

(c) Kuldeep Nayyar

(d) Pranab Mukherjee

Where is the secretariat of Organisation for Economic Co-operation and Development (OECD)
located?

(a) Vienna

(b) New York

(c) Paris

(d) London

Kyoto Protocol is a part of:-
(a) UNEP

(b) UNFCCC

(c) IPCC

(d) All the above
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70.

71.

72.

73

74.

75.

76.

77.

frfeRad 7RI & frd TR & 2016 & 89 aTel ITTHT IMATRID AT BT ASTETHT BRAT?
(a) ATDT

(b) A

(c) Srar ST SRI

(d) TR=T

frrferRa el & foa @a 4 21 g 7 81a €1 3 wRd & forw fdwa %y vl ues Siar 27
(a) Frem areht

(b) fIReTSH

(c) YRIATAT

(d) arfeaT

FfaRad 3 & B9 yed R wWoel [HT oage—E gua g AR B U b
TAT &7

(a) 30 UH0 THO fashr=

(b) 30 TH0 THO GAT

(c) WIS IR

(d) TS0 THO THO HHRCT

. f9%a (BRICS) <2l &l ©oT RRER AT 15—16 S[ells 2014 H BBl T~ BIT?

(a) PIeTeroT
(b) afe ™
OEIS
(d) s€9

IRA & frferRad orgzoal # 5 sreus d fieell & daw A fIRIY Iuarer &1 auie 8°
(a) ATTBT 239A

(b) ITTBT 239AA

(c) AT 239

(d) g 239B

frafeiRed 5 & &9 T gRilc® feds : sfaxr Rl S99 RId BT kgD 57
(a) TledR g

(b) Sea g

(c) |eTaT TR

(d) 9oTd FEISIT

JMHATZOIYE BR SHIFIHG BRI TUS Sadya< (3M0g0¥10S10) BT AfTarerd waf Rerd
27?

(a) faI=T

(b) =%

(c) ¥

(d) of<-

TS YIeidlel 39T & —

(a) Jo THO S0 o HI

(b) o TH0 THo Hio ¥Hio o T
(c) amso Wo o o &1

(d) SR T BT
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78.

79.

80.

81.

82.

83.

84.

To which one of the following parties Sri Lankan President Maithripala Sirisena belongs?
(a) New Democratic Front

(b) Sri Lankan Freedom Party

(c) United Peoples Freedom Alliance

(d) None of the above

On which of the following hills Mawsynram which receives the highest average annual rainfall in
the world is located?

(a) Arakan hills

(b) Khasi hills

(c) Garo hills

(d) Jauntia hills

Who among the following is the author of the book “Himalaya ki Beti”?
(a) Bachendri Pal

(b) Neema Joshi

(c) Radha Bhatt

(d) Sarla Behan

Which one of the following cities has become India’s first fully Wi-Fi enabled metro city in 2015?
(a) Jaipur

(b) Pune

(c) Chennai

(d) Kolkata

Which of the following structures are common to animals and plant cells?
(a) Chloroplast

(b) Mitochondria

(c) Centriole

(d) Cell wall made of cellulose

Which of the following five years plan in India aims at “Inclusive growth”:-
(a) Fifth Five Years Plan

(b) Sixth Five Years Plan

(c) Eleventh Five Years Plan

(d) Tenth Five Years Plan

According to Human Development Report-2014 (HDR-2014) what is India’s rank in Human
Development Index (HDI)?

(a) 134"

(b) 135"

(c) 136"

(d) 137"
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78.

79.

80.

81

82.

83.

84.

frfoaRad # & o ot & siidiar @ gufa Agurer Rk dafra 27
(a) = SHIBCH WHe
(b) SficfT WreH Uret

(c) FTsCs YYeH WisH T
(d) SWRIFd # e I =2

fr=faRaa & fbw ueel R SR S favg & 9aifde sitad arfife a9l urd wrar & Rerd
4

(a) TRTHM UETS!

(b) WA YBTS!

(c) TRT YBTS!

(d) ST gBTSY

fr=feRed § o A & & TS WS & obd 8°
(a) qA=] UTe

(b) AT SIrE

(c) NTET WE

(d) EXCIT g5+

frfaRaa TR H 19 TR 2015 #§ 9RA &1 U8 G0 THR ¥ dq8—Hlg FeTd ISR a1

27

(a) SR
(b) go1

(c) I=T8
(d) PIABIT

FAfRad # B FFAT UTeU G SI] PIRIGT § FAM BT F TS oIl &7
(a) BRT oa®

(b) FTETHITgT

(c) TR® D%

(d) AT BT a1 BIRMHT FART

yRd § fF=falRad & & fha daadiy I & deg gaaeh e 27
(a) YTordl Ga—agTg ArST=T

(b) Boal Ga—aura ATST=T

(c) TIREAT Ya—auig JrorT

(d) <Fal Yg—qurg AT

A9 fd@r RUIE 2014 (HDR—2014) & R A4 fdbrT @i (HDI) H 9Rd &1 I A
I 2?

(a) 134 df

(b) 135 df

(c) 136 df

(d) 137 df

GEC 25 SERIES-A



85. Which of the following hectorage indicates the marginal farmers in India?
(a) Less than one hectare
(b) 1.0 — 2.0 hectares
(c) 2.0 — 3.0 hectares
(d) More than 3.0 hectares

86. In which of the following years ‘National Food Security Mission’ was launched?
(a) 2001 - 02

(b) 2005 - 06
(c) 2007 — 08
(d)2010-11

87. The rate at which banks lend to RBI is called:-
(a) Bank Rate
(b) Reverse Repo Rate
(c) Repo Rate
(d) Interest Rate

88. Match List-I with List-II and select correct answer from the given codes:-

List-I (Place) List-II (Minerals)
A. Khetri 1. Gold

B. Bailadila 2. Marble

C. Makrana 3. Iron ore

D. Kolar 4. Copper

CodesA B C D

(@ 1 2 3 4

by 2 1 3 4

¢ 3 2 1 4

d 4 3 2 1

89. Which one of the following is not a warm ocean current?
(a) Brazil current
(b) East Australian current
(c) West Australian current
(d) North pacific current

90. Who among the following is the father of Green Revolution?
(a) Norman Barlaug
(b) M..S. Swaminathan
(c) J. Kostrowicki
(d) Mohammad Shafi
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85. FrefeRad 7 BIF |1 2dCIR BT WRA & AART (B DI Flod BT 27?
(a) T&H TICIR A BH
(b) 1.0-2.0 BIEIR
(c) 2.0-3.0 BIIR
(d) 3.0 TIFCIR ¥ 3AAB

86. fFrforRaa & foe af # < @rer gRen fer 9 garm?
(a) 2001—02
(b) 2005—06
(c) 2007—08
(d) 2010—11

87.9% eX B {9 IR 9ol gRT RBI &I SUR AT ST 8, 8l Wrdl & —
(a) 9%
(b) Rasd RaT <=
(c) RaT &=
(d) &I &

88. -1 B FA—II ¥ GAfId BT Tl 3T T T A AEl IR BT FIT DIfIG—
-1 (%) 11 (@fr)
A. TS 1.
B. JaSra 2,
C. AGHT 3. gl 3D
D. PR 4
HeS: A B
(a) 1 2
(b) 2 1
(c) 3 2
(d) 4 3

N =~ WA
—\-b-b-bc

89. fA=fetRad # B9 ST HENIFRIY &RT 18! 87
(a) TSIl €T
(b) Jd SR feran &Ry
(c) uf¥a SIRforr oY

(d) ST W= &RT

90. f=ferRad & @ sRT wIfed &1 STHeTaT 87
(a) FRFT IRAT
(b) THO THO w@THITRE
(c) S0 BRETAPT
(d) gB=Ie Il
GEC 27
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PART 2 : GENERAL INTELLIGENCE TEST

91. 12 men complete a work in 9 days. After they have worked for 6 days, 6 more men join them.
How many days will they take to complete the remaining work?
(a) 2 days
(b) 3 days
(c) 5 days
(d) 6 days

92.  The value of [(242% + 72)Y/2]3 is:-
(a) 625
(b) 10625
(c) 15625
(d) 10245

93. The difference between simple and compound interests compounded annually, on a certain sum of
money for two years at 4% per annum is Rs.1 The sum is:-
(a) Rs. 625
(b) Rs. 630
(c) Rs. 640
(d) Rs. 650

94. The radius of a circle is increased by 100%, then the area of circle will be increased by:-
(a) 400%
(b) 300%
(c) 200%
(d) 100%

95. A laboratory has 55 rabbits, some white and rest brown. Which of the following could be the
ratio of white to brown rabbits in the lab?
(a)1:3
(b)3:4
(c)5:11
(d)3:8

96. If a,b,c, are in A.P. as well as in G.P., then:
(a)a=b=c
(bya#b=c
(c)a#b+#c
(da=b#c

97. A school has a total enrollment of 250 students. There are 163 students in Physics, 148 taking
Chemistry and 120 taking both. How many students are taking neither Physics nor Chemistry?
(a) 65
(b) 71
(c) 59
(d) 89
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91.

92.

93.

94.

95.

96.

97.

Que—I1 IMI gfg T

B9 fad # gl &Rl B 1 6 3T BRI B & UTAT 6 IR I I AT 3T
B YOI BRI H I e faT eir?

12 798 U B
ST & | 91 o1
(a) 2 f&=
(b) 3 &
(c) 5 fa=
(d) 6 fa

[(24% + 72)Y/2]3 FHTHH § —
(a) 625

(b) 10625

(c) 15625

(d) 10245

e fdl Jeee R 2 a¥ § 4% af¥e &S Bl &R W, AR R ahgly @1, e Hemas,
BT AR .1 &, Al oo o

(a) T 625

(b) T 630

(c) T 640

(d) % 650

TP gd BT AT 100% IT &1 R, I9 Jd BT &9%hd ¢ SIRATT —
(a) 400%
(b) 300%
(c) 200%
(d) 100%

T TANTRIAT H 55 TR & f4 B8 Ahe a7 9] 4R T & & | 77 4 P19 91 T
AHE 3R R TR BT 8T Fhal 27

(a)1:3

(b)3: 4

c)5: 1

(d)3:8

I a, b, c, TR Aoft g ToiR S0 <= Sifvrar # 8, ar -
(a)a=b=c
(byaxb=c
(c)a#b*c
da=b#c

T Tl H 250 faemeil €, 163 faemell wifce fasm #, 148 <A™ f=m § qen 120 <1 Al
H g | b faemell =1 @ «ifde e § &R 9 & xarE fa=e 4 &7

(a) 65

(b) 71

(c) 59

(d) 89
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98. Find the missing letters:-
DCBA, ZYXW, HGFE, VUTS, LKIJI,

(2) MNOP
(b) RQPO
(c) NOPQ
(d) ONML

99. Find the wrong term in the following series:-
6, 14, 31, 64, 137, 280

(a) 31
(b) 64
(c) 137
(d) 280

100. A farmer built a fence around his square plot. He used 27 fence poles on each side of the square.
How many poles did he need altogether?
(a) 100
(b) 101
(c) 104
(d) 108

101.  Fill in the blanks choosing the similar word:
Sitar; Guitar; Tanpura;

(a) Mridanga
(b) Violin

(c) Harmonium
(d) Flute

102.1In an exam, a student scores 4 marks for every correct answer and looses 1 mark for every wrong
answer. If he attempts in all 60 questions and secures 130 marks, the number of questions he
attempted correctly is:-
(a) 38
(b) 35
(c) 42
(d) 40

103.  Choose the odd pair of words from the answers:-
(a) Mother-Father
(b) Brother-Sister
(c) Master-Servant
(d) Uncle-Nephew
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98. T 3MER IAYY —
DCBA, ZYXW, HGFE, VUTS, LKJI
(2) MNOP
(b) RQPO
(c) NOPQ
(d) ONML

9 o — — — ——

99. fF=IfeIRad #jgalr § Teld Ue UTwl Bifoiy —
6, 14, 31, 64, 137, 280
(a) 31
(b) 64
(c) 137
(d) 280

100. TP fHaM U+ THR W & IR} AR 918 T 8 | 98 a9 B ISP Yol W 27 TR
I & | {6 o gt fobaT sy ovri?
(a) 100
(b) 101
(c) 104
(d) 108

101.  Rad 9 1 Iugad A9 e | 9RY —
fdR; frer; aryRT;
(a) &
(b) araferd
(c) ERAMTIH
(d) SR

102. TP TN&T H Udh B IS Fel SR B ol 4 3P YT HRaT 8, 9T A ToAd SR B
g 1 ofs @1 qaT 21 AR B Gl 60 UAT DI & IRAT & AT 130 3F YT Il 2, A S
PINTT 9 fha UeHi &1 el SR fear?

(a) 38
(b) 35
(c) 42
(d) 40

103. TR ¥ [T YG—FH gAY —
(a) ATAT—TUar
OKIEREES!
(c) ATfTH—ATHx
(OEIEIERINI
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104.Reena is twice as old as Sunita. Three years ago, she was three times old as Sunita. How old is
Reena now?
(a) 6 years
(b) 7 years
(c) 8 years
(d) 12 years

105. If it was Saturday on 17" December 2002. What was the day on 22" December 20047
(a) Monday
(b) Tuesday
(c) Wednesday
(d) Sunday

106.In a certain code language ‘617’ means ‘sweet and hot’, ‘735’ means ‘coffee is sweet’ and ‘263’
means ‘tea is hot’. Which of the following would mean ‘coffee is hot’?
(a) 536
(b) 731
(c) 367
(d) 753

107. If L stands for + , M stands for —, N stands for x, P stands for + , then
14N10L42P2M8 is:-
(a) 83
(b) 153
(c) 216
(d) 248

108.  If you write down all the numbers from 1 to 100, then how many times the digit 5 is used?
(a) 18
(b) 19
(c) 20
(d) 21

109. The monthly salary of a man is Rs. 4,800 and he spends g of it. His income increases by % of the

present salary and his spending also increases by - of the present expenditure. His savings will

now:-
(a) Decrease by Rs.400
(b) Decrease by Rs.800
(c) Increase by Rs.400
(d) Increase by Rs.600
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104. 91 & SH GAIT F & A 8| D ATA U= a8 AT B SH B A AT o | e
SERCCRCT RIS
(a) 6 99
(b) 7 a9
(c) 8 a§
(d) 12 a9

105.  afe 17 fegwaR 2002 @7 2fFAR o, dr 22 fawR 2004 & B A1 faq or?
(a) IR
(b) HTeIIR
(c) gTarR
(d) QAR

106. IfS TH Brs W H ‘617 BT 37ef B, ‘HoT 3R T, ‘735" &I 31f & ‘BT HdT & IR 263
o1 3 B = T 2 | fAEferRad § W fhder aref ey T 27
(a) 536
(b) 731
(c) 367
(d) 753

107. IRLRRES+ P MR 2 — B, NRER S x &, P R & +d o 14N10L42P2M8
BT AN & —
(a) 83
(b) 153
(c) 216
(d) 248

108. Ife 3T 1 & 100 & () @ O S forgd &, 1 o1y fdha aR @id 5 forad &7
(a) 18
(b) 19
(c) 20
(d) 21

o\ [N 7 o [aN
109. ot <afad &1 91 = B0 4,800 2 3R T8 IARI 5 T Bl B | IAB! I

Waﬂﬂm%aﬁ%‘eﬁ?\sﬁw g3 Hluj\cu@%?a?r%ﬂwm%‘laawaﬁﬁﬁz—

(a) B0 400 T
(b) 30 800 T
(c) B0 400 ST
(d) 30 600 ST
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110.  The missing letter in the following is:

G|L
H| M
L 9

(a) O

(b) R

()P

dQ

111. A man walks 5 metres straight and then 10 metres to the right. Than he continuously turns left
and walks 10, 5, 10 metres respectively. How far is he from his starting point?

(a) 5V3 metres
(b) 3v/5 metres

(c) 5v2 metres
(d) 10 metres

112. A square of side ‘a’ is divided into four rectangles as shown in the following figure. The lengths
of the sides of the rectangles are natural numbers. The area of the two rectangles are indicated in
the figure. Then the value of ‘a’ is:

— a —_—

|I5

| 48

(a) 10
(b) 11
(c) 15
(d) Cannot be determined

113. What is the minimum number of different colours required to paint the figure given below such
that no two adjacent regions have the same colour?

(a)3
(b) 4
()5
(d) 6
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B|G|L
C M
G| L|?

() O

(b) R

) P

@ Q

111. U® Afed 5 Hiex e 3R R 10 Alex a1V =erdr & | R 98 JdR a1d Jedl © 3R
SHT 10, 5, 10 WER AN © | 3@ g8 Y URMD fomg 4 fhal ¢ wR 8?
(a) 5V3 e
(b) 3v5 #iex
(c) 5V2 e
(d) 10 #reR

112. U 9 s 4o 2’ & @I 9 T R & JgAR IR MIal H diel TAT| 3maai &
qSTRT @1 o aTe Ui W& & | &1 Ml &l &hel O § ST 7 81 F ‘2’ &1 A9 &

—_— a —

||5

(a) 10
(b) 11
(c) 15
(d) STa 8T fhar S Hdban

113. = A W fom & I & forg |gaee fdas 31 anfed & a1 Mebead! el § a9+ 37 7
BI?

(a) 3
(b) 4
(c) 5
(d) e
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114.1If the average of 6, 11, 19 and d is to lie between 19 and d (19 < d) which of the following is true?
(a) d <40
(b) d>40
(c)d=40
(d) none of these

115. Statement: Some bags are trunks. All trunks are shirts. Some shirts are books. All books are
shops.
Conclusion: L. Some shops are bags

1L Some books are bags
1. Some shops are shirts
IV.  Some shirts are bags

(a) Only I and II are true

(b) Only I and III are true

(c) Only III and IV are true

(d) None of these

116. Several teams take part in a competition, each of which must play one game with all other teams.
How many teams took part in the competition if they played 45 games in all?
(a) 15
(b) 20
(¢) 5
(d) 10

117.1In a race of 200 metres, A beats B by 20 metres and C by 40 metres. If B and C are running a race
of 100 metres with exactly the same speeds as before, then by how many meters will B beat C?
(a) 11.11 metres
(b) 12 metres
(c) 10 metres
(d) 25 metres

118. A clock is set right at Sam. If it loses 16 minutes in 24 hours, what will be the true time when the
clock indicates 10 pm on the 4™ day?
(a) 11 pm
(b) 10:44 pm
(c) 10:28 pm
(d) 11:04 pm
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114. afd 6, 11,19, MR d BT AT 19 IR d & 91 H © (19 <d), O 7 & d9—31 H&8T1 87
(a) d<40
(b) d > 40
(c) d =40
(d) g 3 IS el

115, Y9 : $B I ¢db 2 | TN §F HHIol 8 | BB HHl s 2 | 9 s o 2
s . 7B gaH i 2 |
I 68 JWd a2 |
. $B o HHel 2 |
IV. $8 dHIo a1 2 |
(a) BacT 1 3R 11 I 2|
(b) dad 1 3R 11l &I 2 |
(c) dad I R IV &I 2|
(d) 378 | PIS L |

116. %8 THI 7 U& Ufaaiar § 9r7 o, U <9 & 91! & 941 SHl & 911 U T4
YAl ST)) & | Al Sl T el 45 T el B, Al Ui # gl ot Sl = An forar?
(a) 15
(b) 20
(c) 5
(d) 10

117. 200 Hlex Grs § A 5 B &I 20 Hex 3R C &I 40 Hiex | &A7| T B 3R C, U8 100
Hrex 9 a0 9 €IS, dF B 9 C & fhad Hlex 9 &ar?
(a) 11.11 #HIex
(b) 12 Hrex
(c) 10 Hrex
(d) 25 Hrex

118. TP =] 5 g0l gag Wel A9Y <ol © | Al I8 =] 24 ©< H 16 e ¥ 81 SiRll g, af
T o T H B B 10 g9 W A FHT R BIIT?
(a) I 11 991
(b) I 10:44 &1
(c) I 10:28 &9F
(d) T 11:04 &1
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119.  Find the missing number in the following figure:
//’A‘\\ //'A‘\\ //"“\\
/ \ / \, / \,
s N VPN N
AL AN S i2 N 7 7 \

/ \ S N / \
S N n / N _/ N A
&8 L by W4 D <L A, ] f£ N2
(a) 80
(b) 70
(c) 46
(d) 18

120. Which of the following groups of letters when placed serially in the blanks in the following
series, will complete the series ?

ab__ aa_ caabc___ __ bca.
(@ chbab
(b) cbc a
(c) cbaa
(d cbac



6 4 5
/ N\ VAN YN
VAN VAN AN
S/ N, / . / \
VAV N A B> BN / 2 N
2 AN S s N / N
/ N\, / N\ S N,
Q / N 19 rd N =~/ A3
v L v -7 i =
(a) 80
(b) 70
(c) 46
(d) 18

120. =1 § | 39 A MR e, I Raaq WM = $wer W od €, @ 9 sjger &1 gut @
<d 87

ab aa caabc__ __ bca.
(@@cbab
b)cbc a
(c)cba a
(dcbac



Tue—III 9= 2=

121. ‘98 BI) Tsd! el Fem § ugdl &
=9 I ¥ favsy g —
(a) g8
(b) BIEY
(c) TSI
(d) v

122. 399 Hig9 9 3fd AR &
= gt H fagiver @
(a) O™
(b) &
(c) 3rfer®
(d) AR

123.  ‘UelY’ &l qgigar v © —
(a) TG

(b) 3T
(c) fagT

(d) g<

124.  ‘sv&' P GGl I 8 —
(a) SOIRR
(b) ITERTS
(c) Hedar
(d) fora®

125.  fg @1 ygfyarh s & —
(a) ICHIE]
(b) TR
ORIEEL
(d) 99

126. g% &1 yAar e qE 8§ —
(a) TIRER
(b) 3t
(c) arfer
(d) ~rferfer

127. ‘39T &1 qAiHar e T8 & —
(a) T
(b) 3rHIfT
(c) X
(d) srgaifer
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128. fy=faRad & & SI9—<1 g SIHHE &7 e 87
(a) S@TfYA
(b) FRAEE
(c) |
(d) 3MqHT

129. ‘HETAT T faaH ot & —
(a) 3INTH
(b) ArfY
(c) <1119
(d) gxIHT

130. ‘fafed &t fadiw veg § —
(a) g
(b) Pd
(c) FAfda
(d) snfese

131.  ‘fagre’ &1 fadim osg 8 —
(a) Harg
(b) ufars
(c) diq
(d) Afdare

132. fowar &1 fadi™ o © —
(a) °Tg
(b) BT
(c) &
(d) erg

133.  fifdd aredl § 9 g 919 B BIfCy —
(a) A9 H DS AUBDR AMHR TIBT hb? AT AT |
(b) A9 H BI3 TUDI 3MHR TFHT THR AT AT |
(c) ST H B AYDDBR AT AR TFBT THR AT T |
(d) ST H PIS YD 3T 3R IIFHT B AT T |

134, f=foad § 9 d9—41 G gE o7
(a) THT B I W i 98 7 A |
(b) TS, M9 A HfeAT H TER, H Ppaged g |
(c) ART T 9D fog Ta omelt off |
(d) U8 R o fufsar 98 € RNigs Iax o9 B |

135. {9 38 @ 9ol AYE &7
(a) STETdT
(b) g=ETq
(c) WTdTq
(d) TR
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136. fr=feiRaa & 9 59 o &1 aqn orgg 27
(a)ﬁ%ﬁw
(b) ST
(c) uef3 =
(d) arB=Ig

137.  fr=fafaa & 9 o1 are g 27

(a) A FIH YA B |

(b) T o & |
(c) U el &I ATl 13 |

(d) & T 3T BT ST |
138. ST 9 & T4 P 8T SaT &' & oIl U 98 © —

(a) Y39

(b) TIeT2mE
(c) TTHIT

(d) TR

139.
(a) Swaf
(b) ufcrgfaar
(c) o
(d) ®rEt

140.
(a) I=TaIT
(b) TSI
(c) TogHA
(d) 3T
141. S fa<er & &9 o @ folv U g ® —
(a) fageh
(b) TardT
(c) SUT®HT
(d) ¥TEY
142. 'RUE ¥s 69 arne & foy wga gram 2°?
(a) 3T a1 & Y 3vE |

(b) T 91 & forw &3 |
(c) TET @1 919 BT SIRGR T |

(d) U 91T gD W B foTy |
ferifed & dI—aT g dod 27

143.
() T
(b) &3
(c) &8
(d) 7T
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144. fa=ifed § 9§ -1 g 59T 87
(a) TGl
(b) 3P
(c) g¥
(d) U

™

145. fr=faRaa § & 9-—1 og dgwd -8 87
(a) forcRT
(b) 31
(c) RE®R
(d) o

146. fa=ifed § | HH—T g doTH T8l 87
(a) Sefla-r
(b) ITE
(c) g

(d)

147. fo=fRad & 9 SI9—<1 g doTH &7
(a) S9cH
(b) B
(c) ®e
(d) 3

148. ‘98 AR &I AT | ‘9T FAT &7
(a) AITaTAd faergor
(b) oA faRTer
(c) ATd=fasd faemyor
(d) FHEIaTEd faeIyor

149.  H= o= &7 < 3R Frareh fbaer ol ? arad § fhaen weq # Hi—d1 {42 € —
(a) TRHATT aTa®
(b) TIUT dTdd
(c) =g ara®
(d) ard=tAD

150. fr=ifeiRaa & | -1 2 [orarasd’ faRwor 981 87
(a) Hel
(b) TSI
(c) g
(d) Feptert
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